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Mock Exam for CH 107 Exam 3 (Chapters 18, 19. This is a similar format to the exam. Remember to pace
yourself with the questions; you do not want to run out of time.
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1. Which of the following is a secondary amine?
a. CHsNCHs- N0, the N needs 3 bonds+ This
b. CHsCH,(CO)NHCH; -2 &° oendR RN~
() CHsNHCH,CHy + NH ~
d. CHs(CO)N(CHs),

hats oala 2
~

AN

2. The reaction between an amine and forms an amide. a

a. ketone * ol dobion” .

(% Alcahol omine + cacb, ocid —7 amive + Ha0

c.) Carboxylic acid N g v .

-‘ 3+ R&od - R-&NH, + HRO
d. Aldehyde Ho i
S 4y & 2 1

3. Name the following compound: CH;CH,CH,CH5(COIN(CH3), _b__

a. Dimethyl pentyl amide & ! .

N,N-dimethyl pentanamide NN - divae- ‘4\1 | - perfonamide

c. N,N-dimethyl pentyl amide
d. Dimethyl pentyl amine

4. The amine ethyl pronanamineis a amine and will react with A_
proz%oic acid to form ;
a.) Secondar N-ethyl-N-propyl propanamide 0 6 SR
b. Secondar: N,N~d\{propyl jt‘:wapnariide A == v-+ Hs O
c. Tertiary Ethyl propyl propanamide
d. Tertiary N-ethyl-N-propyl propanamide
5. is an alkaloid that was the first antimalarial drug. =k _d__
a. Pumiliotoxin alkalord found in Ses SKin (heart muscles)
b. Theobromine alelo < = tho colate
c. Acetaminophen pamide- pain relies ond fever veducer
@ Quinine alkaloid~ (gect by Peruvion Indicns Sght {c;«‘:zas.__;e, L cold
6. A guaternary ammonium compound has a nitrogen bonded to carbons and _(:L
hasa charge.
@ Four positive h v
b. Four negative E N 1
c. Five positive :
d. Three negative
7. A polyamide is made from a and a : ___.C_;
a. Diacid diacid N
b. Diamine dialcohol (osydes ost A4 auvive)
Diacid diamine '\?@\\JOMC“\-
d. Diamine diamide

e, L )
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8. will react with an amine to form an amine salt.

D e e e e AR
b, H,0 Qo ne. g%wohE god —3J omine S8ltS
c. NH,
d. Ammonia

9. The reaction of hexanoic acid and dimethylamine will form
a. 2,2-dimethylhexanamide peaud ANRS =
b. N,N-dimethylhexanamine WD &
c. N-ethylhexanamide /\/\f"’\g" N THeo
d. N,N-dimethylhexanamide
N ﬁ,-':%,%.i"& Ko nonel SR

10. A is a molecule with both positive and negative charges.
/a..\ Heterocyclic amine
(b. )zwitterion

c. Free base
d. Polyamide

11. Which of the following is NOT a nonpolar amino acid?
a. Methionine M7
b. Leucinenp
u;j Cysteine =
d. Phenylalanine %

12. Amino acids link together to form peptides and proteins. A *?mj‘gm has
thousands of residues while a _seghae has less than 50 residues.
Protein peptide

b. Protein protein
c. Peptide protein
d. Peptide peptide

13. The name of the bond that combines amino acids is
a. Amide bond
b. Protein bond
J:‘\ Peptide bond
d. Hydrophobic bond

WS on godde bond, bud morR

) 3 3 g L1
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14. Amino acids that are not synthesized in the body and must be obtained from the
diet are called
a. Incomplete
b. / Essential
c. basic
d. polar




15. Which of the following amino acid sidechains has a positive one charge?

a. F Q‘\(‘CCK Hre C_'?(\O..f*‘i'!‘. G"!thf\ e he ovne
b. D \eler none, S Matcia v porty e
SE Tl I‘“\I&-Wu, yHaer paatein YL o *”'5
e edvctiere . The "R Sidedhain
d. W dederpeines g C,\«o;réa“
16. (:‘;ly~Mfat—A§n—P:rl'g-L\?s-Tth isa that has peptide bonds..

a. Hexapeptide six

@ Hexapeptide five
c. Pentapeptide six
d. Pentapeptide five

17. The bond between two cysteine molecules are called
-{ai) Disulfide bonds
N

b.

Gy

d.

18. Hydro

d.

Peptide bonds
Hydrogen bonds
Nonpolar interactions

gen bonds are important in the structure of proteins.
Primary

)
\\D Secondary

o

Tertiary

d. Quaternary

19. Which of the following is NOT part of the tertiary structure of proteins?
@/) Peptide bonds

b. Hydrophobic interactions «~~
c. Hydrogen bonds v
d. Hydrophilic interactions .-
20. The “rechion is the overall protein structure while the _Secondov
spatial arrangement of neighboring residues.

o Tertiary Secondary
b. Tertiary Primary
c. Quaternary primary
d. Quaternary secondary

21. Globular proteins are
a.

b

€.

d

while fibrous proteins are

Structural functional
.} Functional structural
Not water soluble water soluble

. Disulfide bonds hydrogen bonds

is the




24,

25

26.

27

28.

&
. In the peptide Glu-Ala-GIn-Gly,

N

is the N terminal residue.

a. Glycine Glycine
b. Glutamic acid
(©) Glycine
d.

Glutamine

Glycine
Glutamic acid
Glycine

a. Amine Crart,

o
Thiol )

is the € terminal residue and

. What functional group is in the amino acid sidechain of asparagine?

) Amide O NMa ] +
~MN¥3 o rcecnaln
G

St cha
d. Carboxylic acid

e. Alcohol
(& ]

The type of interaction between the sidechains of valine and leucine is expected to be:

a. Disulfide bond

b. Hydrophobic interaction
c. Peptide bond

d. Hydrogen bond

= i
HN - C-0as

ot ove nonpolar

The two peptide chains in insulin have what type of bond?

(a.) Disulfide bond
b. Hydrophobic interaction
c. Peptide bond
d. Hydrogen bond

Amines are considered to be

Acidic

Basic —Weall 50 ey
Neither acidic or basic £l

o nlg)e

Both acidic and basic

Which of the following is not true about free bases?

a. They are very volatile

b. They are soluble in hydrophobic solutions

c. Theyare uncharged amines
\(_:l) They are soluble in hydrophilic solutions

The bonds between strands in a B sheet are:
( a/ Hydrogen bonds

b Disulfide bonds
c. Peptide bonds
d. None of the above
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orm are amine-containing drugs administered?

29. Inwhat f
@ Amine salt
b. Free base
c. Pumiliotoxin
d. Polyamides
30. are amines derived from plants, animals, and fungi. _@_
Ea.S Alkaloids
b. Pain relievers
c. Free bases
d. Acetaminophen
31. Amides are considered to be: R
a. Basic
b. Acidic
@ Neither acidic nor basic
. Both acidic and basic
32. Opioid peptides that are similar to opiate alkaloids in that they produce pain relief _&
| and feelings of euphoria are
| @ Endorphins
X b. Sweeteners
c. Kevlars
d. Acetaminophens
33. In the reaction called amidation, a secondary amine will yield: - _;_C_{_

o fr;jjc' p:

' atertiary amide

A primary amide

a secondary amide \ o _ o i
. /SN Ao A AN T Ho

no reaction R

B ansonT




Short Answer: Answer any 4 of the following 6 questions. If you do all 6, he will only grade the first 4 (even if
you got number 5 right and number 3 wrong, you will get % correct...so be careful!)

34. Draw a tetrapeptide with all nonpolar residues. Number the residues; give the three letter code, and
indicate the peptide bonds, the amino terminus, and carboxyl terminus.
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35. Write the complete reaction for the formation of a tertiary amide containing 7 carbons. Name all
reactants and products.

O
Ao v~~~ + HeO

eenoic  + cliethy | —_
PO;;;O\ O e ! N.M»d’aﬁ\@ipmq@anam‘.o\e + water

36. Compare and contrast globular and fibrous proteins (at least three items), and give an example of each
type.
Fbous prteirs and globular protéins are both pvoteing thet consit
ot regidues . Rovwus @m—l-ew\‘s consi & of onla o fewn vesidues ”"infl"“”
Y{‘)@fﬁ’ﬁ"% while alobuleyr Pwiems e mode 9wt naogh Lgxww} Y H*j,
YRS\ ¢ iy ; |
eith RIS ‘iéb"WS ore long chany whi'e %\ﬁ‘mia.f Pty Can
o i *\:’bﬁ Wotee solulole - Moder insoluble. Hoavr is an xaenple
pi f f‘“’@‘” PR while nervogolin 1s an example of &
\O 2 > a . : :
goptlas oroten. FRomus gre Shuchurel white glokulae
are fonchone\,




37. List three protein tertiary structure interactions. For one of these, name possible amino acids that can be

involved.

\ hnmb‘}"— r\;\-_e(ac"k:}mg—@n\l dw ehoketic dechen n\} Pw hine , lQucine
2. hodvopen bondds - (€0 N, of OH) Hyning, sedne

3. Salt bvdae - (one add and one baze) osportic Ocicl with
histidivg,

38. Draw and name two primary, two secondary, and two tertiary amines for C;H;sN

pA
m"‘j‘ e cor\dQ,% e
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1= h{x&_ﬂﬁd'i’\‘k ne QJANG} Yk \ OIS, i N /\/\
L C N-tbry) Sutomarine) dimethy| loutyl amine
: UN - dinethy | suttanansie
: NH J
5" Naxanarmine e i ~

Wu-:\"rua\ pend \ arcine \N/
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39. Describe the toxication of acetaminophen.

Toxicoton- wshen Something not horenul reacks with Rntraes wnthe b

OU"‘C\ -C.YQGC\‘Q% %OIWQ_*K\V\Q‘ Ve M(W\;M ) ACQ‘\'Q.N\:“F\@'*—(:D\NEY\ s @x‘,&r’.‘?fd ,“-'4'\

the liver (wheve i+ lose¥ 4 é’} and becomes NARRI. The. liver occucanlches
s and ¥ canses ireversil\e Viver dam;a\ag_‘




